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Question: 1 

Choose the one which conveys the meaning of the sentence 

correctly. 

(A) I was impressed rather by the manner of the speaker than by his matter. 

(B) I was rather impressed by the manner of the speaker than by his matter. 

(C) I was impressed by the manner of the speaker rather than by his matter. 

(D) Rather I was impressed by the manner of the speaker than by his matter. 

Ans: C 

I was impressed by the manner of the speaker rather than by his matter. 

Question: 2 

Choose the one which conveys the meaning of the sentence 

correctly. 

(A) It is too hard an essay for me to far attempt. 

(B) Too far it is an essay hard for me to attempt. 

(C) It is far too hard an essay for me to attempt. 

(D) It is too far hard an essay to attempt for me. 

Ans: C 

It is far too hard an essay for me to attempt. 

Question: 3 



 

 

Choose the one which conveys the meaning of the sentence 

correctly. 

(A) The teacher asked the student to leave the room with a frown on his face. 

(B) With a frown on his face, the teacher asked the students to leave the room. 

(C) The teacher asked the students with a frown on his face, to leave the room. 

(D) The teacher asked with a frown on his face the student to leave the room, 

Ans: B 

With a frown on his face, the teacher asked the students to leave the room. 

 


